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S.S.L.C. EXAMINATION, MARCH- 2013 

MATHEMATICS (Malayalam) 

Time: 2YzHours Total Score : 80 

m1f8af}(fl)6Uf300 : 

1) 630~<00 ~.!1..10(3~ ClJ6 o ClJOC0>1-?.d6 Qlffi CW1 E!JO c96>1 CO> <m1 rn 6 ~CIOn9:io ~arm> roo 

om!96<l»6db. 

2) ~amnroamn1arn ~(lJ(IO~Ql6~1smm> nflU0(3,<fb(0611)6ID3u8 marndb6db. 

J) <0 6TlS 6 ~ .!1..1 0 (3 ~ 6m3 u8 c96>1 S C0>1 arn <lJl?HiH~! lib 1 arn om 6) <Tn !9 6 <m1 C0>1 § 6 6) 6TlS lib 1 arn 
<CJl?) (lJ eo>1 arn 63 cm1 m 6 Ql 0 l em 0 ~arm> ro 0 om !9 6 cm1 ('Q) 0 arn Ql cm1. 

4) ~(3~6><mm 15 C2l1m1§ ~uowcrucruC2leo>o (Cool off time) ~6Tl). @'D CTUC2leo>o . 

~.!1..10(3~6ID3u8 ClJOC0>1~ C2lmcw1E!.!Oc96>6db. 

5) ~.!l..lor3~amn1arn tnJ~<m~dbo ~ruuo~6>~§1§16>~11b1arn n, J2 C2l6<mE!.Ioeo> 

<CJ1?)@1<Tndb6ID3@6 6)5 oijldb~(3(10 nilE!.!dbu8 ~nJ~('Q)0(/)1.?] E!.lne.ll db<01~c96>6TlS<m1~. 

rScORE) 
Q 1) .!lJ )/lJ 6) s 6) c£b 0 s )/nTffi 1 (0 1 cOO & ffi) ffi) l2l 0 mY> (0 (] l (R) 611) 1 Cill1@ BJ (0 6115 0 

12l(] arrm w & o m o BJ o l2l (] arrm w & o nJ 86GB u8 ru13 & (] nJ o w1 m 1 cOO & em & . 

@ rn m.w om arriD' rum & em rruoru ~ c£b u8 c£b6l15 & nJ1 s1cOO & c£b. [2] 

11, - , 19, -, .. .... . 

Q2) 3x3 
- 2x2 + kx - 6 n{J)<m 6TlJn.D&nJ8amD1@~ neJSc£bl2lQ6Yl) (x - 2) 

QJ) 

n{J) ffi:, 1 am k CQ) & 6) s ru1 BJ n{J) ('(0) ? [ 2] 
y 

B 

X 

Y' 

.!lJ1umarrm1am, C (]c£blffil2lOW ru~arrmarrm1@BJ A, B n{J)<m, 6TlJ1m&cOO 

~1BJ&~ @<IDOS&ClJffic£b~o6Yl) X «m>c:M:lru&o Y «m>c:M:lru&o. A Cill&@S 
' 

rru l.!lJ c£b rru o 6LJ ~ c£b u8 ( 4, 0) ~ w o am B , C n{J) cm1 ru w & 6) s rru l !L.l c£b 

ffi) 0 6)J ~ c£h u8 c£b 0 611) ~ cfb. [2] 
P.T.O. 
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[ScoRE] 

Q4) 63«>6 6>o.J§1m>1am cfhO&<'llTID<m&o 6>ru~&<'llTID<m&l2lom>1 Cffi'06>c£h 18 12l6<'llTID6 

c£h~6~· @<mlam mlcm&o 63«>6 12l6amn nms&<'llTIDoam amHm c£h06<'llTID 
1 

<m0c£h0ffi6~ CTUOW.:\<m 
3 

Cffi'06ffi. n{J)Ilhlam (3) 

a) c£h06<'llTID 12l6<'llTID6cfh~66>S nffi6pJ6>12lL<m ? 

b) 6>ClJ~6<'llTID 12l6<'llTID6c£h~66>5 nffi6pJ6>12lL<m ? 

c) @<ml~e.JcOO n{J)L<m 6>ClJ~6<'llTIDI2l6<'llTID6c£hu8c£hlS1 @§OroO c£h06<'llTID 
v 1 

12l6<'llTID nffiS6<000ffi6~ CTUOW.:\<m 
4 

Cffi'0c£h6o ? 

Q 5) 63 ffi 6 6>12l(U)1cOOam c£h .:\ o<;hJlam o.J6>1IhS& <'llTID Cffi'0~& c£h6>~ <m l cOO<'llTIDlm 

m&cru<nl~ cmroo cm1ro1~ o.J§1c£hm>o6Ti5 !Ll&OJ6>S 6>c£hOS&<'llTID1<n1cOO&cm®. [3] 

CIDllfl6>o ( cfu 1~Q.J:JL(J):JIZl1am) ~~~cfu~&@S n{f)6pJo 

20-30 16 

30-40 21 

40-50 28 

50 - 60 24 

60-70 11 

Q6) A 

B 

!UlL<marrmlam A , B, C, D, E omcmlru ru~arrmarrm16>e.J GUJ1m&cOO~o6Ti5. 

L A +L B +LC+LD+LE=180° omm1 6><m~1m>1cOO&c£h. [3] 
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(SCORE] 

.t:>Jlumanmlm-0 mamcfu lwl3~~ .t:>JCID~ ffiiS~~o A B C D 63ro~ .t:Ulcfu lw 

.t:>J cm ~ ffi IS~~ l2l o 6> 6TD m) 6>® ~l wl cfl6) ~ cfu. 

Q 7) a) (2, 4) nill<TD 6rulm~ ~cfulffil2lC>CillCID~o 5 Cilll6TDlg <IDQ>a>l2l~~cm~ 

12le>Cill ru~anmo (2, 0) nill<TD 6TlJlm~rulffi"Bcfl6)l5l cfu5<TD~~n.Je>cfu~~l2le> 

nillm) n.Jrol~une>Wlcfl6)~cfu. 

Q8) 

b) gQ 'D ru~ anmo X ~ cfhl::l6>aJTID 6lJ6TT)' Mlc£}6) ~ <TD 6rul m ~ c£}6)~ ~ 6>5 

cru l.t:U cfu cru o 6)J ~ cfu uB om<£> 6 cm ~ cfu. 

p c 

B 

.t:>JlLcmmrmlam CA, CB g:QOJ ru~arrmarrml6>~ 6>®0560J<ncfu~06m. 

cful506>CID PA = PB , L C=40° . l®l~cfue>6mo PAB Cill66>5 ~cfue>6TD 

~0J6cfuu0 cfu06TD~cfu. 

Q9) 63a> 6 CTUI2le> rrm ro ~lun 6ml Wl6>e.J <IDQ>G ~6>anm n n.JG 6m3 ~6 6>5 ®6 cfu 

5n2 + 2n <ffi06TT). 

[31 

13J 

131 

P. T.O. 

.., 
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(SCORE) 

QJO) 63<0~ 03l<ID1 <:gcfua 6ITHIDID161~ B.Jo6DJ ru u66GT3 ~1m3 63rm1m 061$? 

ruuocgamn<66Jau3 6 61mJ~~0~gcB m~~o cful5~<IDB.Ja6ll). l<ID1cgcfua6TD 

am»161~ n.J<Oc(d~oJ 36 .!l.J<ID~ffilU061ffiJ~~0~gcB @0CDJam3 ~<ID161~ 

B.Jo 6DJQJ U06GT3~~ 615 m~~o cfu'6TD <66J a <66J ~ cfu. [ 3] 

QJJ) 
c 

A 
4 6)mJ.r2ll. 

.!l.J1L<mam»1m3 ABC 63<0~ 03l<ID1cgcfua6TD0a6ffi'. AB = 461au.01. , 

LA =45° . cful5a61<ID AC CDJ~615 0W~ 6DJ1m~ rua6ffi' D . oman 1m3 

BC, AC, BD @QJCDJ~615 m~~o cfua6TD~cfu. 

Q/2) 63<0~ ffiJ0.!l.J<ID~<O mJ<IDln.J1cfuCDJ~6)5 oill~p QJ<66J~cfu~~<:g5CDJ~o m~~o 

12 61mJ~~0~goa6ll). 

a) @<ID161~ 63<0~ n.JacOUOJ0~6lJmTID161~ n.J<Oc(d~61QJl<ID ? 

b) @,'D mJ<IDln]cfuCDJ,6615 @~<OrCIDB.J n.J<Oc(d~61ill[<ID ? 

c) @'D mJ<IDl n.J1cfuCDJ~ 615 QJ<66J~ cfu~~ 615 m~~o <06TTS~ 056GT3a<66J1 

waam @n.J<01~B.J n.J<Oc(d~oJ oilll<ID 056GT3acfu~o ? 

Q/3) a) l , 4, 7, 10, ..... oillrrD mJ0aCTro<O <:glU06ffi1CDJ~6)5 6DJ~~(J)6TD1<ID 

<Oln.Jo nm~~<ID~cfu. 

b) 100 @'D cglcro6TD1CDJ16)B.J n.J(30a<:g6ffia ? nmmn~ @cfua~ ? 

c) @'D cglU06TD1CDJ161B.J n{B<ID~ n.JGam»1cg~CDJ~o rucBe&o <:glU06TD1CDJ161B.J 

<ID 6) rm 63 (0 ~ n.J (3 0 a CDJ1 (0 1 <66) ~ 0 om <11'1 ffi) 0 cB <m.n1 <66) ~ cfu. 

[3J 

r 41 

[4] 
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Q14) a) AB = 10 @CTU.ml, LA=50°, LB=70° rum~ em L<IDle&cfu06mo 

ABC rurocri)c66)~cfu. 

b) umle&cfu06Tno ABC CQ)~@S @riHTm<Bru1mlmo OJ(O~ @0COo 

am>~@cmW~<ID~cfu. [4] 

QJ5) a) p(x) = 6x3 + 3x2 ntj)cm 6TlJn:D~n.JBmlml@~ neJSdnl2lOC&6TnO (X+ 1) 

ntj)cm n.JCOl C& utl 0 Wl c66) ~ cBJ. 

b) p(x) ntncm 6TllnD~n.JBC&mlmOS om<ID 63cmOocfu1<IDl 6TlJnD~n.JBo d3Jl3l 

CQ)Oam (x2
- 1) neJScful2lOCQ) 6TlJnD~n:JBo c£h l§~o ? 

am> 6) ~en lam 

q(x) ntj)cm 6TlJnD~n.JB@mlm (x - a) 6)cBJ061@ nDCOlc66)~ C&ffiJO~~~ 

unlciliso kCQ)~o r(x) nmcm 6TlJn[)~ n.J(36)am5) (x - a) 6)c£h061@ 

nDCOlc66)~C&ffilO~~~ unlr&so -k CQ)~o <ffi06TI). 

a) q(a) cBJ06Tn~cBJ . 

b) q(x) + r(x) ntj)cm 6TlJnD~n.JBmTml@~ neJScBJQl06TI) (x - a) ntj)cm 

6) <ID ~l CQ)l c66) ~ cBJ. 

QJ6) 63co~ Ln.Je&Bun@mrm 100 cfu~s~o6TlJ6ID36)~ am>ru<B 6)6)0JB~~cml .!l.Joro~ 

@ m mrml am am> S -9z1 <ID ~ cBJ CQ) ~ 6) S am> sl CTUO 0 m mrml am <ID COo <ml CO l-9z1 

[4] 

n.J§lcfuCQ)o6TI) .!l.J~ OJ@S @cfuos~ mrmlrolc66)~ cm<ID. [ 41 

6)6)0JB ~~ cm1.!1Joro~ 
cBJ~S~o6TlJ6ID3~~6)5 nti)~o 

c roln.JCQ)1am) 

0 - 200 8 

200 - 400 12 

400 - 600 21 

600 - 800 30 

800 - 1000 23 

1000 - 1200 6 
I 

P. T.O. 
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,Ql7) a) OJU06ID3~~6)5 m'1~o 5 61m.>crg'1Ql'1go~o 4 61crung'1Ql'1go~o rua>&(ll) 

63«>~ rucm~roo rurom>c£}6)&db. ~"D rucm&mam»1m cm&e.Jc\ n.J«><(j~ 

OJ&~ 63<0~ OUQl.!:l.J(O)&<Oo OJ<0Wc£}6)&db. 

b) ~"D OUQlrucm& roarrm1m cm&e.Jc\ n.J«><(d~ru&~ 63«>& OUQln.JorouoJ 
l(0)1(gdb:J6Tno OJ <OW c£}6) 6 db. 

QJ8) a) 63<06 m.>o6l.Jc\C0>661Sca>&o «m>cm161ng illc\&amldbQl<OTID161ngca>&o cm&db 
25 . v v 12 ®06Tn. 0Uo6l.J c\ nm CO) ? 

b) 63<06 «m>w1 m.>o6l.lc\ eo>& 61SC0>6 o «m>cm161ng illc\6 amldbQl<OTID161ngca>& o 

CO) 6 db n(j) ~p co) (g '7d:) ~ 6 0 2 (ffi'()6) ~ ffh l am «m> CO) 1 am c£}6) l s 6 em am 
®0 ca>1 <0 1 c£}6) 6 0 n(j) m) @em ~1 ca>l c£}6) 6 db. 

63 <0 6 (g S6:) e.J1 6) ~co) em 6 em, <B c£}6) 6 (ll) em 1 m 6TlJ :) 6TlJ ~ rul m ar0 6TlJ ~ 

ru1(gffic£}6):Ju0 6 B1rucruo dbls~emam (gOJ6Tno. ~rum «>611S&(gn.J<O~o 

63a>&Ql1~ 61.o..JWemoam 4 B1rucruo G>db:J~ a~oe.J1 em'1ro&o. nma:n l am 

63 o a roo ro ~am» <B c£}6) ~ o 63 g co) cB6) ®0 a~ o e.J1 6> ruw em~ em '1 <B cf}6) o rrB n(l) l em 

B1rucruo aru6Tno ? 

A 

l<ID1adb:J6Tno ABC ca>1am AB = AC = 10 6>m.>.Ql1. LABC =50o . 

a) BC ca>&G>S m'1~o db6Tnc£}6):Jc£}6)&db. 
·• 

b) ru 1 am» am» 1G>crg ru c\ o cru o db 6Tn cf}6) o c£}6) & db. 

[sin 50° = 0.77, cos 50° = 0.64, tan 50° = 1.19] 

(5] 

[51 

(5] 
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63a>& 6)<£h31sarrm1@~ m&dh~1am m1<0Bd16>&em nnro1, aredh6)e.J(m&~ 

63a>& sruo1@~ 12l&dhuOf5Q(f)@®ID 500 ~ma5B~d16>o6m1e.J&o dh "lWfSQ(f)@®ID 

20° dh "lw~d16>06m1e.J&o dh06m&em&. nnro1m>&@S @<ID<no 1.6 m"lgo&o, 

nnro1 m1<0Bd16>&em @dh31s<mm1@~ @m>a>o 9.2 m"lgo&mo6l11. 

a) emem13&~ ru1ruro6UB@~ «fr(}S1auoommod16>1 63a>& nffidh~Bcro 

!l..11L emo rum <ri5 d16> & dh. 

b) @dh3lsarrmlam m1em&o o{i)Lem (ffi(}<fh@e.Jm>o6l11 sru<B ? · 

c) sruo1@~ @<D>a>o dh06m&dh. 

[
sin 20°= 0.34, cos20°= 0.94, tan 20°= 0.36] 

sin50°=0.77, cos50°=0.64, tan50°=1.19 

Q20) a) mroarrmslm>1am mlm(ll2)l~ 63ro& ru~arrm m)emln.Jldhm>&@S !l..1ro1ru& 

cwroru&o .uoBruc)Om>ru&o 1 0 @m>~"lm"l~<B ru"lemmo6l11r gQem1@~ 

ru c) o cJ em@ 12ll em ? 

b) gQ rn ru~ arrm m) em l n.J1 c£b · 6) !l..l<miD 1 nJ rom o ru w1 ru e.J1 ?d m & ~ 63 ro & 

cg (f) o ~ m o d16> & em & o{i)ffb lam cg (f) o ~ arrm 1@ ~ ru c) o cJ em @12ll em ? 

Q21) a) X, Y (ffi(}cfb9:16UBuO rum~ A(5, 8), ~(3, 2) omem"l 6TlJ1m&d16>uB 

(ffi(} s (Q) Q ~ 6)?d s & <miD & c£b. 

b) !3 C om CfD ru cro o X (ffi(} c£b9:1 arrm 1m m> m o em> rom o cw1 ru ro arrm d16> 
' : 

ru1wo Lem1cgcfbQ6mo ABC ruro~oam «fr(}em1@~ @Wa>o omLemm>o 

cw1ro1d16)&o ? 

c) B C n(J) em ru <m o X (ffi(} c£b9:1 arrm 1m m>m o em> rom o m>1 ru ro arrm d16> 

ru1 Wo n.JC0'7d~oJ 15 !l..l(O) & COL CfOCW l6m1g ruro & em gQ<miDa>®ID1 am 
63a>& Lem1~cfb06mo ABC ruro<ri5d16)&cfb. 

[5] 

[5) 

P.T.O. 
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Q22) 4x- 3y- 10 = 0 nmcm OJCO n.JC01(f)6m1cfffi)~cfh. 

a) ( 4, 2) <J.ill<m 6nJ1m~ @'D OJCOCDJ1B.J06)6m<Tf1' 6)@~1CDJ1ce6)~cfh. 

@'D ClJlOCW I@'B.J IZl@~pco~ 6nJ1ffi~ cfh6115~ n.J1S1ce6)~ cfh. 

b) @ rn ru co cw ~ 6) s .!lJ co 1 ru c£h 6T1) cfffi) o cfffi) ~ c£h. 

c) @<&em .!l.Jco1ru~~cm~o (3, 5) <J.ill<m 6nJ1m~ru1m-Bce6)lS1 cfhS<Tr)~ 

<&n.JOcfh~<mcm~IZlOCDJ OJCOCDJ~@S <nJIZlOJOcfh~o <">4)\:IJ~(O')~cfh . 

0000 

624 
[SCORE) 

[5] 
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